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NJ ASK MATHEMATICS & OPEN-ENDED QUESTIONS

The mathematics section of the NJ ASK measures a student’s ability to solve problems by applying
mathematical concepts. The areas tested are: Number and Numerical Operations; Geometry and
Measurement; Patterns and Algebra; and Data Analysis, Probability, and Discrete Mathematics.

The mathematics section of the test consists of multiple-choice and open-ended questions. Each
open-ended question must be responded to in the area provided in the test. For each of these
questions, a student must provide enough explanation so that the scorer can understand the solution.
The student’s response will be scored on the correctness of the method as well as the accuracy of
the answer. Responses must be in English in order to be scored.

The open-ended questions will be hand scored on a scale from O to 3. The general scoring guide
on the next page was created to help readers score open-ended questions consistently. The scoring
guide is used by the trained readers who score the Mathematics open-ended questions on the
NJ ASK test. Each question on the NJ ASK has its own scoring rubric which is based upon the
general scoring guide.

The students are provided with a Mathematics Reference Sheet as shown on page 3. This sheet
contains colored geometric shapes as well as a ruler, to aid the student in answering specific
questions on the test. The student is also provided with a calculator during the calculator section
of the test.



Scoring Guide for Mathematics Open-Ended (OE) Questions
(Generic Rubric)

3-Point Response

The response shows complete understanding of the problem’s essential mathematical concepts.
The student executes procedures completely and gives relevant responses to all parts of the
task. The response contains few minor errors, if any. The response contains a clear, effective
explanation detailing how the problem was solved so that the reader does not need to infer
how and why decisions were made.

2-Point Response

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student executes nearly all procedures and gives relevant responses to most
parts of the task. The response may have minor errors. The explanation detailing how the
problem was solved may not be clear, causing the reader to make some inferences.

1-Point Response

The response shows limited understanding of the problem’s essential mathematical concepts.
The response and procedures may be incomplete and/or may contain major errors. An
incomplete explanation of how the problem was solved may contribute to questions as to
how and why decisions were made.

0-Point Response

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The procedures, if any, contain major errors. There may be no explanation of the
solution or the reader may not be able to understand the explanation. The reader may not be
able to understand how and why decisions were made.

The above generic rubric is used as a guide to develop specific scoring guides or rubrics for
each of the open-ended (OE) questions that appear on the New Jersey statewide assessments
in Mathematics. These scoring rubrics provide the criteria for evaluating and scoring student
performance and are developed by a committee of mathematicians and teachers. Rubrics ensure
that there is consistency, fairness, and accuracy in scoring open-ended questions.



Mathematics Reference Sheet
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DESCRIPTION OF THIS MANUAL

This manual is divided into two sections—one for Grade 3 and the other for Grade 4. Each section
contains four open-ended items—one from each Standard. The question, sample solution, and
item-specific scoring guide are provided for each item. Three exemplar papers for each score point
are represented for each of the four open-ended items.

Samples are included for each score point of the General Scoring Guide for Mathematics (a 4-point
scale, O to 3). These sample responses, which are grouped by score point, represent the range of
approaches that third- and fourth-grade students take with this open-ended item in mathematics.
Each response is annotated according to the score point criteria.

The responses selected to appear in this handbook were written by third- and fourth-grade students.
The responses appear as the students wrote them; no corrections have been made other than
the deletion of specific names that may have appeared to identify the student or the student’s
school district.



GRADE 3

OPEN-ENDED ITEMS






NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade. Jon gave the man 20¢ in change.

 Did Jon give the man the correct change? Show your work or
explain your answer.

e Show one combination of coins that Jon could use to give the
man the correct amount of change.

e Show another combination of coins that Jon could use to give
the man the correct amount of change.

Work area for question.




STANDARD 1 - NUMBER AND NUMERICAL OPERATIONS

Jon had a lemonade stand. He sold each cup of lemonade for 20¢. A man gave Jon 50¢ and
said that he wanted to buy 1 cup of lemonade. Jon gave the man 20¢ in change.

e Did Jon give the man the correct change? Show your work or explain your answer.

e Show one combination of coins that Jon could use to give the man the correct amount
of change.

e Show another combination of coins that Jon could use to give the man the correct
amount of change.

Sample Solution:
e No, 50¢-20¢ = 30¢
e A quarter and a nickel

e 3 dimes



Scoring Rubric

3 Points

The student
e shows/writes a correct reason why 20¢ is not enough
e shows one correct group of coins needed to make change
e shows a correct alternative group of coins to make change

2 Points
The student
shows one correct group of coins needed to make change
shows a correct alternative group of coins to make change
OR
shows/writes a correct reason why 20¢ is not enough change
shows one correct group of coins needed to make change
OR
shows work to find an incorrect amount of change
shows 2 correct combinations reflecting the incorrect amount of change

1 Point
The student
e shows/writes a correct reason why 20¢ is not enough change.
OR
shows work to find an incorrect amount of change
shows 1 correct combination reflecting the incorrect amount of change
OR
states an incorrect amount of change
shows 2 correct combinations reflecting the incorrect amount of change
OR
e response shows a limited understanding of the problem’s mathematical concepts

0 Points
The student
e shows 2 combinations for the same amount of incorrect change
OR
e theresponse shows insufficient understanding of the problem’s mathematical concepts.
The response is incomplete or inaccurate and contains major errors, or no response
is given.



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢,
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
Jemonade. SJon gave the man 20¢ in change.

¢ Did Jon give the man the correct change? Show your work er
explain your answer.

¢ Show ene combination of coins that Jon could use fo give the
man the correct amount of change.

¢ Show another combination of coins that Jon could use to give
the man the correct amount of change.

Work area for question
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student correctly shows (50¢-20¢=30¢) or writes why 20 cents is not enough
(gave the man 10¢ less). The student then shows two correct ways to make change.

10



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ end said that he wanfed fo buy 1 cup of
lemonade. Jan gave the man 20¢ in change.

» Did Jon give the man the correct change? Show your work or
explain your answer.

¢ Show one combination of coins that Jon could use to give the
man the correct amount of change.

s Show another combination of coins that Jon could use to give
the man the correct amount of change.

Work area for quesfion
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Score Point: 3
The response shows complete understanding of the problem’s essential mathematical

concepts. The student correctly shows why 20 cents is not enough (20 + 20 is 40 and he
gave him 50¢). The student then shows two correct ways to make change.

11



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢,
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade. Jon gave the man 20¢ in change.

¢ Did Jon give the man the correct change? Show your work or
explain your answer.

¢ Show one combination of coins that Jon could use ta give the
man the correct amount of change.

s Show another combinafion of coints that Jon could vse to give
the man the carrect amount of change.

Work area for question

.

o, because he was .SUpYOSed. o @
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes a correct answer as to why 20 cents is not enough (he was
suposed to give the man 30¢). The student then shows two correct ways to make change.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ and said that he wanted fo buy 1 cup of
lemonade. Jon gave the man 20¢ in change.

* Did Jon give the man the correct change? Show your work or
expldain your onswer.

* Show ane combination of coins that Jon could use fo give the
man the correct amount of change.

* Show ancther combination of cains that Jon could use to give
the man the correct amount of change.

Work area for quesfion
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Score Point: 2
The response shows nearly complete understanding of the problem’s essential mathematical

concepts. The student shows work to find an incorrect amount of change due to thinking
that the cup of lemonade sold for 25¢ (50¢-25¢=25¢ if the lemonade costs 25¢). However,
the work is correct and utilizes that answer (25¢) to show the two combinations of coins.

13



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy T cup of
lemanade, Jon gave the man 20¢ in change.

\ * Did Jon give the man the carrect change? Show yaur work or
explain your answer.

\ - - - L)
A Show one combinalion of coins that Jon could use to give the
man the correct amount of change.

(\) + Show another combination of ¢oins that Jon could vse to give
the man the correct amount of change.

Work darea for question
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Score Point: 2
The response shows nearly complete understanding of the problem’s essential mathematical

concepts. The student writes a correct response — “No, Jon didn’t give the right change.”
However, the student does not go on to explain or show why. The student does give two
combinations of coins to make the correct amount of change.

14
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NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemenade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade. Jon gave the man 20¢ in change.

» Did Jon give the man the carrect change? Show your work or
expldin your answer.

« Show one combination of cains that Jon cauld use to give the
man the correct amounf of change.

¢ Show anather combination of cains that Jon could use to give
the man the correct dniount of change.

Work area for quesfion
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for guestion
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student correctly shows (50-20 = 30) or writes why 20 cents is not enough
(gave the man 20 when he should of gave him 30). The student then shows two ways to
make change, one of which is incorrect.

17



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy T cup of
lemonade. Jan gave the man 20¢ in change,

¢ Did Jon give the man the correct change? Show your wark or
explain your answer.

¢ Show one combination of coins that Jon could use to give the
man the correct amount of change.

¢ Show another combination of coins that Jon could use to give
the man the correct amount of change.

Work area for question

Score Point: 1
The response shows limited understanding of the problem’s essential mathematical concepts.

The student shows a correct answer as to why 20 cents is not enough (50¢-20¢=30¢) or writes
why 20 cents is not enough (the man still needs 10¢). The student shows two combinations
of coins; however, neither represents the correct amount of change.

18



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of [emonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade, Jon gave the man 20¢ in change.

* Did Jon give the man the correct change? Show your werk or
explain your answer.

» Show one combination of coins that Jon could use to give the
man the correct amount of change.

¢ Show anocther combination of coins that Jon could use to give
the sman the correct amount of change.

Work area for question “

No Ton didnt (3‘ ~

oy Bee Yol ang
o\f\w\%e . ?Wg CW:}ECW

Score Point: 1
The response shows limited understanding of the problem’s essential mathematical concepts.
The student writes an incorrect amount (25¢) without work and shows two combinations of

coins of that incorrect amount of change.

19



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade far 26¢.
A man gave Jon 50¢ and said that he wanted to buy T cup of
{emonade. Jon gave the man 204 in change.

» Did Jon give the man the correct change? Show your work or
explain your answer.

« Show one combination of cains that Jon could use to give the
man the correct amount of change.

s Show another combination of coins that Jon could use to give
the man the correct amount of change.

Work areua for question

Jon did not give the CoTfect
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for quesfion

Should  give Jon 3
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Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student shows a correct answer as to why 20 cents is not enough (50¢-20¢=30¢). The
student fails to show any combination of correct change.

21



NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of [emonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade. Jon gave the man 20¢ in change.

* Did Jon give the man the carrect change? Show your work or
explain your answer.

» Show one combination of coins that Jon could use to give the
man the correct amount of change.

* Show another combination of coins that Jon could use to give
the man the correct amount of change.

Work area for question

no becovse he didn't gwtb
him CﬂOUB)\ Lhaﬂ?e’

M\; broin Yold me the

Dnswer.

Score Point: 0
The response shows insufficient understanding of the problem’s essential mathematical

concepts. The only correct answer is “no.”

22



NJ ASK RELEASED SAMPLE « GRADE 3

don had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade, Jon gave the man 20¢ in change.

» Did Jon give the man the correct change? Shaw your work or
explain your answer.

* Show one combination of caoins that Jon could use to give the
man the carrect amount of change.

+ Show another combination of cains that Jon could use to give
the man the correct amount of change,

Work area for question

*Hes, He 9()&-\/0 ‘(\'\r\/\ e 7 ght
Change ¢
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Score Point: 0
The response shows insufficient understanding of the problem’s essential mathematical
concepts. All answers are incorrect.

23




NJ ASK RELEASED SAMPLE « GRADE 3

Jon had a lemonade stand. He sold each cup of lemonade for 20¢.
A man gave Jon 50¢ and said that he wanted to buy 1 cup of
lemonade. Jon gave the man 20¢ in change.

/ Did Jon give the man the correct change? Show your work or
explain your answer.

Show one combination of coins that Jon could use to give the
man the correct amount of change.

Show another combination of coins that Jon could use to give
the man the correct aumount of change.

Work area for question

No becavse he man g\ve ywo dollers

o Jon gnd Jan Gve Yhe wnceeret C"“’é?g

e
Jofl have lo Gwe WO ame> IO ol

two Jdwne and Wwe hicals .
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Score Point: 0
The response shows insufficient understanding of the problem’s essential mathematical

concepts. The only correct answer is “no.” All other answers are incorrect.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

SO0 OO KOO

e If Sophia continues this pattern, what are the next three beads
she will put on the string?

* If Sophia continues her pattern until she has used a total of
14 circle beads, how many square beads will she have used?
Show your work or explain your answer.

Work area for question.

25




STANDARD 2 - GEOMETRY AND MEASUREMENT

Sophia is stringing beads for a necklace, as shown below.

SO0 OO KOO

e [f Sophia continues this pattern, what are the next three beads she will put on the
string?

e If Sophia continues her pattern until she has used a total of 14 circle beads, how many
square beads will she have used? Show your work or explain your answer.

Sample Solution:
e C(ircle, circle, square.
e 7, for every 2 circles there is one square. If there are 14 circles, 14/2 = 7.
OR
e circle, circle, square

e 6,CCS, CCS, CCS, CCS, CCS, CCS, cC

26



Scoring Rubric

3 Points
The student
e correctly draws the next three beads Sophia will string
e correctly determines Sophia will use 6 or 7 square beads and shows work (e.g., 14/2=7;
extension of the pattern until 14 circle beads have been used)

2 Points
The student
correctly draws the next three beads Sophia will string
correctly determines Sophia will use 6 or 7 square beads but shows incomplete, incorrect,
or missing work
OR
correctly draws the next three beads Sophia will string
incorrectly determines the number of square beads Sophia will use but shows correct
work for 6 or 7 square beads
OR
e correctly determines Sophia will use 6 or 7 square beads and shows work (e.g., 14/2 =7,
extension of the pattern until 14 circle beads have been used)
OR
correctly draws the next three beads Sophia will string
determines the number of square beads (4 or 5) based on a total of 14 beads and not
14 circle beads

1 Point
The student
e correctly draws the next three beads Sophia will string
OR
e correctly determines Sophia will use 6 or 7 square beads but shows incomplete, incorrect,
or missing work
OR
e response shows limited understanding of the problem’s mathematical concepts

0 Points
The response shows insufficient understanding of the problem’s mathematical concepts. The
response is incomplete or inaccurate and contains major errors, or no response is given.

27



NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

= [If Sophia confinues this pattern, what are the next three beads
she will put on the string?

« {f Sophia confinues her patiern unkil she has used a total of
14 circle beads, how many square beads will she have used?
Show your work ar explain your answer.

Work area for question

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student correctly draws the next three beads Sophia will string. The student
correctly determines Sophia will use 6 or 7 beads (7 squares if she had 14 circles) and shows
work (extension of the pattern).

28



NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beods for a necklace, as shown below.

&

* [f Sophia continues this pattern, what are the next three beads
she will put on the string?

« If Saphia continues her pattern until she has vsed « tolal of
14 circle beads, how many square beads will she have used?
Show your work or explain your answer.

Work area for question

" Tleel] 127

Score Point: 3
The response shows complete understanding of the problem’s essential mathematical concepts.

The student correctly draws the next three beads Sophia will string. The student correctly
determines Sophia will use 6 or 7 beads (6) and shows work (extension of the pattern).

29



NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below,

If Sophia confinues this pattern, what are the next three beads
she will put on the string?

@ « [If Sophia continues her pattern until she has used o total of
14 circle beads, how many square beads will she have used?
Show yaur work or explain your answer.

Work area for question

b Tre ras-tiwe o @@ 7
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student correctly draws the next three beads Sophia will string. The student
correctly determines Sophia will use 6 or 7 beads (7) and shows mathematical work to
support the answer.

30



NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

OO UIQOUIGO U~

t = [f Sophia continues this pattern, what are the next three beads
she will put on the string?

A+ If Sophia confinues her pattern until she has used a total of
14 circle beads, how many square beads will she have used?
Show your work or explain your answer.

Work area for question

Score Point: 2
The response shows nearly complete understanding of the problem’s essential mathematical

concepts. The student correctly draws the next three beads Sophia will string. The student
correctly determines Sophia will use 6 or 7 beads (7); however, no work is shown to support
the answer.

31



NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

= If Sophia continues this pattern, what are the next three beads
she will put on the string?

s If Saphia continues her pattern until she has used a total of
14 circle beads, how many square beads will she have used?
Show your wark or explain your answer.

Work area for question

OO Tloe th .
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Score Point: 2
The response shows nearly complete understanding of the problem’s essential mathematical

concepts. The student correctly draws the next three beads Sophia will string. The student
correctly determines Sophia will use 4 or 5 beads (4 squares) based on a total of 14 beads
(not a total of 14 circle beads) and shows work to support the answer.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

+» [If Sophia continues this pattern, what are the next three beads
she will put on the string?V/

¢ If Sophia continues her patfern vntil she has used a total of \/
14 circle beads, how many square beads \‘vﬂl she have used?

Show your work ar explain your answer.

s ot * circles W”‘A
Ve Puﬂ’d"ﬂ \M‘TH /
14 cirele loeads,

a mee o Se
She has 1 have nsed 10 Squere

Work area for question

Score Point: 2
The response shows nearly complete understanding of the problem’s essential mathematical

concepts. The student correctly writes the next three beads Sophia will string (2 circles and
1 square). The student incorrectly determines Sophia will use /0 square beads; however,
correct work is shown for 7 square beads.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

SO~

« If Sophia continues this patfern, what are the next three beads
she will put on the string?

« If Sophia confinues her pattern until she has used «a fotal of
14 circle beads, how many square beads will she have used?
Show your wark or explain your answer.

Work area for question

QO[]
_\ ‘fq

Z?s

S:ogkia Wi]( havi: 93
beeds becaose . 0\(}4{&/ q. SQW?NZ
(ihti it «@Qﬁ/ﬁ[ed 25 a

Score Point: 1
The response shows limited understanding of the problem’s essential mathematical concepts.

The student correctly draws the next 3 beads Sophia will string. The student determines
Sophia will use 23 square beeds, which is an incorrect response.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

KO~

v [If Sophia confinues this pattern, what are the next three beads
she will put on the string?

« If Sophia continues her paftern until she has used « fotal of
14 circle beads, how many square beads will she have used?
Show your work or explain your answen

Waork area for question

1.0 eyt
00 \ 69,(}“):%& veods would b &Q\vc\e.s

0. QoY N0RS Tac porrem o\
5‘(\6:5\2%6 03eA o dotal of &XCKD}QU ‘oreds
Sve Wil hove 3 Sgoark eods.

Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student correctly writes the next three beads Sophia will string (2 circles and 1 square).
The student states Sophia will use 3 square beads based on a total of 14 circle beads, which
1S an incorrect response.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

¢ If Sophia continues this pattern, what are the next three beads
she will put on the string?

« If Sophia confinues her putiern until she has vsed a fotal of
14 circle beads, how many square beads will she have used?

Show your work ar explain your answer.

Work area for question

9 circles

6 Crdes Y sqfalCs
661 661000G 0104

Score Point: 1
The response shows limited understanding of the problem’s essential mathematical concepts.

The student writes the next three beads Sophia will string (2 circles), which is an incorrect
response. The student determines that Sophia will use 4 squares based upon a total of

14 beads.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

e [f Sophia continues this patiern, what are the next three beads
she will put on the string?

* If Sophia continues her pattern unfil she has used a total of
14 circle beads, how many square beads will she have used?
Show your work or explain your answer.

Work area for question

S ,

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student’s response (a drawing of another bead pattern) is incorrect for either
of the bullets.
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NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

@ KO~

s [f Sophia continues this pattern, what are the next three beads
she will put on the skring?

* [f Sophia continues her pattern until she has used a total of
14 circle beads, how many square beads will she have used?
Show your work or explain your answer.

Work area for guestion

SO
T swbﬂfmﬂ[@” A fom
4 puf ﬂ@/ J2_.

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student incorrectly draws the next three beads Sophia will string (2 circles).
The student writes there will be 12 (draws a square), which is an incorrect response.

38



NJ ASK RELEASED SAMPLE « GRADE 3

Sophia is stringing beads for a necklace, as shown below.

Qe @0 If Sophia continues this pattern, what are the next three beads
she will put on the string?

3 @ I Sophia continues her pattern until she has vsed a total of
14 circle beads, haw many square beads will she have used?
Show your wark or explain your answer.

Work area for question

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student incorrectly draws the next three beads Sophia will string (2 circles)
and writes 3 as the answer to the second bullet.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk cartons for a science project. She has saved
6 milk cartons in one week.

e Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk cartons.

e If Jackie continues to save 6 milk cartons each week, how
many weeks will it take Jackie to save 20 milk cartons?
Show your work or explain your answer.

Work area for question.
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STANDARD 3 - PATTERNS AND ALGEBRA

Jackie needs 20 milk cartons for a science project. She has saved 6 milk cartons in one week.

e Write and solve a number sentence to find how many more milk cartons Jackie needs
to meet her goal of 20 milk cartons.

e [f Jackie continues to save 6 milk cartons each week, how many weeks will it take
Jackie to save 20 milk cartons? Show your work or explain your answer.

Sample Solution:

e 20-6=14

e 25 more weeks, 6 X2.5=15
OR

e 20-6=14

e 3 more weeks, 6 X3 =18
OR

e 20-6=14

e 4 weeks, 6 x4=24
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Scoring Rubric

3 Points
The student
e writes and solves a correct number sentence (e.g., 20 — 6 = 14)
e writes the correct number of weeks Jackie will need (2%2 to 4) and shows work

2 Points
The student
writes and solves a correct number sentence (e.g., 20 — 6 = 14)
writes the correct number of weeks Jackie will need (2Y2 to 4) but work may be
incomplete, incorrect, or missing
OR
writes a correct number sentence but does not solve it
writes the correct number of weeks Jackie will need (22 to 4) and shows work
OR
does not write a number sentence but shows the work for 14 (vertical work)
writes the correct number of weeks Jackie will need (22 to 4) and shows work
OR
commits a calculation error
writes a correct number of weeks based on the error and shows work

1 Point

The student
writes a correct number sentence but doesn’t solve it
writes the correct number of weeks Jackie needs (2% to 4) but work may be
incomplete, incorrect, or missing

OR

e writes and solves the correct number sentence
OR

e writes the correct number of weeks Jackie needs (22 to 4) and shows work
OR

e response shows limited understanding of the problem’s mathematical concepts

0 Points
The response shows insufficient understanding of the problem’s mathematical concepts. The
response is incomplete or inaccurate and contains major errors, or no response is given.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk carfons for a science project. She has saved
6 milk carfons in one week.

* Wirite and solve a number sentence to find how many more
milk cartons Jackie needs fo meet her goal of 20 milk cartans,

o if Juckie conftinues o save & milk cartons each week, how
many weeks will it take Jackie to save 20 milk cartons?
Show your work er explain your answer.

Work area for question

A0~ L

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes and solves a correct number sentence (20-6=14). The student
writes the correct number of weeks it will take Jackie to save 20 milk cartons (3 weeks and
2 days) and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk carfons for a science project. She has saved
6 milk cartons in one week,

* Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk cartons.

e [f Juckie continues to save 6 milk cattons each week, how
many weeks will it take Jackie to save 20 milk carfons?
Show your work or explain your answer.

Work area for question

20-lp=M
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ek
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for question
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes and solves a correct number sentence (20-6=14). The student
writes the correct number of weeks it will take Jackie to save 20 milk cartons (4 weeks to get
24) and shows supporting work through the use of a table/chart.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk carfons for a science project. She has saved
6 milk carlons in one week,

L « Write and solve a number sentence to find bow many more
milk carfons Jackie needs to meet her goal of 20 milk cartons.

a e If Jackie confinues to save 6 milk cartons each week, how
many weeks will it take Jackie fo save 20 milk cartons?
Show your work or explain your answer.

Work area for guestion

1020-6=11

ety

£ wer k¥
2° fue !m‘*‘ part o ¥

6|12]8 | ?;L/‘*"‘J
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes and solves a correct number sentence (20-6=14). The student
writes the correct number of weeks it will take Jackie to save 20 milk cartons (week 3 and
part of week 4) and shows supporting work through the use of a table.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk carfons for a science project. She has saved
6 milk cartons in one week.

¢ ' Write and solve a number sentence to find how many more
milk cartoris Jackie needs to meet her goal of 20 milk cartons.

« [f Jackie continues to save 6 milk cartons each week, how
many weeks will it take Juackie to save 20 milk cartons?
Show your work or explain your answer.

Work area far question
. { 10

-G
14 more milk cort oNns
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student does not write a number sentence but finds the correct solution
(14 more milk cartons). The student makes a correct chart to show how many weeks it will
take until Jackie saves 20 milk cartons.
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NJ ASK RELEASED SAMPLE « GRADE 3

Juckie needs 20 milk cartons for a science project. She has saved
6 milk carfons in one week.

* Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk cartons.

* If Jackie continues to save 6 milk carfons each week, haw
many weeks will it take Jackie to save 20 milk carfons?
Show your work or explain your answer.

Wcrk area for question

g
R

== Three more weekes, but  sh
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student writes a number sentence correctly but gets the incorrect solution.
(20-6=13). The student writes the correct number of weeks it will take Jackie to save 20
milk cartons (3 more weeks but she will have four carnons left over) and shows supporting
work through the use of a table/chart.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jaclde needs 20 milk cartons for a science projeck. She has saved
6 milk cartons in one week. :

» Write and solve a number sentence to find how moany more
milk carfons Jackie needs to meet her goal of 20 milk cartons.

 If Jackie conlinues to save 6 milk cartons each week, how
many weeks will it take Jackie to save 20 milk cartens?
Show your wark or explain your answer.

Work area for question
Yar ¥ 1-
_b

| % nore coftons Yo Teach her ool -
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student does not write a number sentence but finds the correct solution
(14 more cartons to reach her goal). The student writes a correct statement that Jackie will
need 4 weeks to reach her goal and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk carfons for a science project, She has saved
6 milk cartons in one week.

* Write and solve a numhber sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk cartons.

» [If Jackie continues to save 6 mill cartons each week, how
many weeks will it take Jackie fo save 20 milk cartons?
Show your work or explain your answer.

Work area for question

S 4

\
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Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student does not write or solve the correct number sentence. The student writes a correct
statement that in four weeks she would have more than 20 cartons and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk cartons for a science project. She has saved
6 milk cartons in one week.

* Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk cartons.

o If Jackie continues fo save 6 milk cartans each week, how
many weeks will it take Jackie to save 20 milk cartons?
Show yaur work or explain your answer.

Work area for question

W =24

Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student does not write or solve the correct number sentence. The student writes a correct
statement that Jackie will need 4 weeks to save 20 milk cartons and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk cartons for a science project. She has saved
6 milk carfons in one week.

e Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk carfons.

* if Jackie continues fo save 6 milk cartans each week, how
many weeks will it take Jackie to save 20 milk cartans?
Show your work ar explain your answer.

* ur a far quesfion ¢
I “" % wedks AN XA
B dob\‘“ ﬁl’ ¢ arton s
becwuse hil=

Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student does not write or solve the correct number sentence. The student writes a correct
statement that Jackie will need 4 weeks to save 20 milk cartons and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk cartons for a science project. She has saved
6 milk cartons in one week.

* Write and solve a number sentence to find how many more
milk carfons Jackie needs to meet her goal of 20 milk carfons.

* If Jackie continues to save 6 milk carfons each week, how
many weeks will it take Jackie to save 20 milk cartons?
Show your work or explain your answer.

Work area for question

R 6/ Honc

UL

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student response only shows work for the number of weeks needed for Jackie
to save 20 milk cartons but does not write how many weeks it will take, nor does the student
write and solve a correct number sentence.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk cartons for a science project. She has saved
6 nilk cartons in one week.

« Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goal of 20 milk cartons.

» [f Jackie continues to save 6 milk cartons each week, how
many weeks will it take Jackie to save 20 milk cartons?
Show your work or explain your answer.

Work area for question

N o @,ES
@ Alkie peds VT wot
d<t 20 milk carions,
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for question

@é@' )
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Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student writes an incorrect number of weeks, 472 mor weeks, and shows
incorrect work. The student does not write and solve a correct number sentence.
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NJ ASK RELEASED SAMPLE « GRADE 3

Jackie needs 20 milk cartons for a science project. She has saved
6 milk cartons in one week.

Write and solve a number sentence to find how many more
milk cartons Jackie needs to meet her goa! of 20 milk cartons.

e If Juckie confinues to save 6 milk cartans each week, how
many weeks will it take Jackie to save 20 milk cartons?
ow your work or explain your answer.

Woark area for question

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student states the correct number of weeks but shows incorrect work. The
student does not write and solve a correct number sentence.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,

and 2 yellow jelly beans. He will pull one jelly bean from the bag
without looking.

e What is the probability of pulling a yellow jelly bean from
the bag?

e Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pulled 2 red jelly beans from the bag and ate them.

e Now what is the probability of Andrew pulling out another
red jelly bean? Explain your answer.

Work area for question.
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STANDARD 4 — DATA ANALYSIS, PROBABILITY, AND DISCRETE MATHEMATICS

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green, and 2 yellow jelly beans.
He will pull one jelly bean from the bag without looking.

e What is the probability of pulling a yellow jelly bean from the bag?

e  Which color jelly bean is Andrew more likely to pull from the bag? Explain your
answer.

Andrew pulled 2 red jelly beans from the bag and ate them.

e Now what is the probability of Andrew pulling out another red jelly bean? Explain
your answer.

Sample Solution:
e Least likely OR 2 out of 10
e Red, there is a 5 out of 10 chance

e Equally likely with green because there are 3 of each OR 3 out of 8 because there are
3 red and 8 total
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Scoring Rubric

3 Points
The student

writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag

correctly identifies the red jelly bean as more likely to be pulled from the bag and
provides an appropriate explanation (e.g., it has a 5/10 probability; because it is
greater than the other two colors)

writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean and provides an appropriate explanation (e.g., There is an
equal number of red and green jelly beans, which are both greater than yellow.)

2 Points
The student

writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag
correctly identifies the red jelly bean as more likely to be pulled from the bag and
provides an appropriate explanation
OR
writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag
writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean and provides an appropriate explanation
OR
writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag
correctly identifies the red jelly bean as more likely to be pulled from the bag but
explanation may be incomplete, incorrect, or missing
writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean but explanation may be incomplete, incorrect, or missing
OR
correctly identifies the red jelly bean as more likely to be pulled from the bag and
provides an appropriate explanation
writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean and provides an appropriate explanation
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1 Point
The student

writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag
correctly identifies the red jelly bean as more likely to be pulled from the bag but
explanation may be incomplete, incorrect, or missing
OR
writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag
writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean but explanation may be incomplete, incorrect, or missing
OR
correctly identifies the red jelly bean as more likely to be pulled from the bag but
explanation may be incomplete, incorrect, or missing
writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean but explanation may be incomplete, incorrect, or missing
OR
writes the correct probability of 2/10 or least likely for pulling a yellow jelly bean
from the bag
OR
correctly identifies the red jelly bean as more likely to be pulled from the bag and
provides an appropriate explanation
OR
writes the correct new probability of pulling a red jelly bean as 3/8 or equally likely
with a green jelly bean and provides an appropriate explanation
OR
response shows limited understanding of the problem’s mathematical concepts

0 Points
The response shows insufficient understanding of the problem’s mathematical concepts. The
response is incomplete or inaccurate and contains major errors, or no response is given.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from the bag
without looking.

¢ What is the probability of pulling a yellow jelly bean from
the bag?

» Which color jelly bean is Andrew more likely to pull from the
bayg? Explain your answen -

Andrew pulled 2 red jelly beans from the bog and ate them.
* Now what is the probability of Andrew pulling out another red

jelly bean? Explain your answer.

Work area for question

A _?:_ D.s BQ&{,Lgcause L"'"S a Five o 10 chance
\0 |

n |
0' "8" cL ance Leoause you '}'Oﬂk ount

two red _ | |
- F;P; :$i4e§1;§¥+ahes ALY

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes the correct probability of pulling a yellow jelly bean from the
bag (2/10), correctly identifies red as more likely to be pulled and provides an appropriate
explanation (because it’s a five of 10 chance), and writes the correct new probability of
pulling a red jelly bean as 3/8 with appropriate explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from the bag
without looking.

» What is the probability of pulling o yellow jelly bean from
the bag?

» Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew puﬂed 2 red jelly beans from the bag and ate them.

» Now what is the probability of Andrew pulling ouf dnother red
jelly bean? Explain your answetr,

Work area for question
(5 +2) o /O ellybeans
2 out of10
rod” bease 572 and 573

» 2 out of 8
A ]Oh&‘ :&2”7&’-0&5 o

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes the correct probability of pulling a yellow jelly bean from
the bag (2 out of 10), correctly identifies red as more likely to be pulled and provides an
appropriate explanation, and writes the correct new probability of pulling a red jelly bean as
3 out of 8 with supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull ene jelly bean from the bag
without looking.

¢ What is the probability of pulling a yellow jelly bean from
the bag?

« Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pulled 2 red {elly beans from the bag and ate therm.

¢ Now what s the probubilitjr of Andrew pulling out another red
jelly bean? Explain your answer.

Work areu for question . ?“ —g and Alczs‘
| 7 2 red beConse ‘_—? g
— there  ore pore So |
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes the correct probability of pulling a yellow jelly bean from the
bag (2/10), correctly identifies red as more likely to be pulled and provides an appropriate
explanation (because there are more red than any other color), and writes the correct new
probability of pulling a red jelly bean as 3/8 with supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans, In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from the bag
without looking.

» What is the probability of pulling a yellow jelly bean from
the bug?

= Which color felly bean is Andrew more [ikely to pull from the
bag? Explain your answer.

Andrew pulled 2 red jelly heuus from the bag and ate them.
. Now what is the probability of Andrew pulling out ancther red
felly becin? Explain your answer.

Work area for question |
i 5 moel ook orllyy
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for question

Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student writes an incorrect probability of pulling a yellow jelly bean from the
bag (1/10), correctly identifies red as more likely to be pulled and provides an appropriate
explanation (because thers 5 red and only 3 green, and 2 yellow), and writes the correct new
probability of pulling a red jelly bean as 3/8 with supporting work/explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelfly beans. He will pull one jelly bean from the bag
without looking.

* What is the probability of pulling a yellow jelly bean from
the bag? '

= Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pulled 2 red jelly beans from the bbg and ate them.

» Now what is the probability of Andrew pulling out another red
jelly bean? Explain your answer.

Work area for question
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical concepts.
The student writes the correct probability of pulling a yellow jelly bean from the bag (least probability),
correctly identifies red as more likely to be pulled and provides an appropriate explanation (because
there are more reds than any other color), and writes the correct new probability of pulling a red jelly
bean as the same probability for green; however, there is no supporting work/explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are & red; 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from ihe bag
without looking.

* What is the probability of pulling a yellaw jelly bean from
the bag?

- Whiéb color jelly bean is Andrew more likely to pull from the
bug? Explain your answer.

Andrew pulled 2 red jelly beans from the bag and ate them.

. Now what is the probubuhty of Andrew pulﬁng out ancther red
jelly hean? Explain your answer.

o;' {é r question
VR
N8 Q@@

R

Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student writes the correct probability of pulling a yellow jelly bean from the
bag (2/10), correctly identifies red as more likely to be pulled but provides no explanation,
and writes the correct new probability of pulling a red jelly bean as 3/8 with no supporting
work/explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from the bag
without looking.

1 = What is the probability of pulling a yellow jelly bean from
the bog?

‘A* Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pulled 2 red jelly beans from the bag and ate them.

7 = Now what is the prohability of Andrew pulling out anather red
jelly bean? Expldain your answer.

‘Work area for question
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for guestion
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Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student writes an incorrect probability of pulling a yellow jelly bean as one out of ten,
correctly identifies red as more likely to be pulled and provides an appropriate explanation
(more red jelly beans than any other), and writes an incorrect new probability of pulling a
red jelly bean as one out of eight.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly heans, In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull one {elly bean from the bag
without looking.

* What is the prohability of pulling a yellow jelly bean from
the bag?

= Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pi:lled 2 red ie.lly beans from the bag and ate them.

¢ Now what is the probability of Andrew pulling out another red
jelly bean? Explain your answer.
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NJ ASK RELEASED SAMPLE « GRADE 3

More ,work area for question

?:gm?iw 5 e Lkely £

Score Point: 1

The response shows limited understanding of the problem’s essential mathematical
concepts. The student writes the correct probability of pulling a yellow jelly bean as 2 out
of 10, incorrectly identifies green as more likely to be pulled and provides an inappropriate
explanation, and writes the correct new probability of pulling a red jelly bean as 3 out of 8
with no supporting work/explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow felly beans. He will pull one jelly bean from the bag
without looking.

« What is the probability of pulling « yellow jelly bean from
the bag?

e Which color [elly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pulled 2 red jelly beans from the bag and afe them.

« Now what is the probability of Andrew pulling out ancther red
jelly bean? Explain your answer. :

Work area for quesﬁon

There 15 o WiHe probobility of
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for question
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Score Point: 1
The response shows limited understanding of the problem’s essential mathematical concepts.

The student writes an incorrect probability of pulling a yellow jelly bean (little probability),
correctly identifies red as more likely to be pulled and provides an appropriate explanation
(more red jelly beans than any other), and writes an incorrect new probability of pulling a
red jelly bean (less probability) with an inappropriate explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are Qred, 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from the bag
without looking.

» What is the probability of pulling a yellow jelly bean from
the bag?

» Which color jelly bean is Andrew more likely to pull from the
bag? Explain your answer.

Andrew pulled 2 red jelly beuans from the bag and ate them.

» Now what is the probability of Andrew pulling out another red
jelly bean? Explain your answer.

Work area for question 8
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for question
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Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student writes an incorrect probability of pulling a yellow jelly bean (10/2),
correctly identifies red as more likely to be pulled but provides no explanation, and writes
an incorrect new probability of pulling a red jelly bean (8/3).
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelly beans, He will pull one jelly bean from the bag
without looking.

What is the probability of pulling a yellow {elly bean from
the bag?

o Which color jelly bean is Andrew more likely to poll from the
bag? Explain your answer.

Andrew pulled 2 red jelly beans from the bag and ate them.

¢ Now what is the probability of Andrew pulling out another red
ielly bean? Explain your answer.

‘Work area for question
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NJ ASK RELEASED SAMPLE « GRADE 3

More work area for question
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Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student writes an incorrect probability of pulling a yellow jelly bean (likely),
incorrectly identifies yellow as more likely to be pulled and provides an incorrect explanation,
and writes an incorrect new probability of pulling a red jelly bean (least likely) with an
incorrect explanation.
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NJ ASK RELEASED SAMPLE « GRADE 3

Andrew has a bag of jelly beans. In the bag there are 5 red, 3 green,
and 2 yellow jelly beans. He will pull one jelly bean from the bag
without leoking.

» What is the prabability of pulling a yellow jelly bean from
the bug? NQ \ \g\{

* Which color iél[y bean is Andrew more likely to pull from the
bag? Explain your answer. ‘\Qb\

Andrew pulled 2 red jelly beans from the Bdg and ate them.

* Now what is the probability of Andrew pulljng out another red

jelly bean? Explain your nnswer.{\DQS Qy

Work area for question

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student writes an incorrect probability of pulling a yellow jelly bean as not
likely, correctly identifies red as more likely to be pulled but provides no explanation, and writes
an incorrect new probability of pulling a red jelly bean (most likely) with no explanation.
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GRADE 4

OPEN-ENDED ITEMS
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary School has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and a teacher. All
vans, except the last van, will have every seat filled.

e How many vans does the school need for the field trip? Show
your work or explain your answer.

e How many students are in the last van? Show your work or
explain your answer.

Work area for question.
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STANDARD 1 - NUMBER AND NUMERICAL OPERATIONS

Jackson Elementary School has 237 students who are riding in vans for a field trip. Each van
holds 7 students, a driver, and a teacher. All vans, except the last van, will have every seat filled.

e How many vans does the school need for the field trip? Show your work or explain
your answer.

e How many students are in the last van? Show your work or explain your answer.

Sample Solution:
e 34,237/7=33R6

e 6 students are in the last van because 33 buses will be filled and 1 more van will take
6 students, 1 teacher, and the driver.
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Scoring Rubric

3 Points
The student
e writes 34 vans are needed and shows work (237/7 =33 R 6)
e writes 6 students in the last van and shows work (33 buses will be filled all the way
and 1 more van will take 6 students)

2 Points
The student
writes 34 vans are needed and shows work
writes 6 students in the last van
OR
writes 34 vans are needed
writes 6 students in the last van and shows work
OR
writes 27 vans and shows work (237/9 =26 R 3)
writes 3 as 1 student, 1 teacher and 1 driver and shows work
OR
e writes one correct answer but may provide one incorrect answer due to a
miscalculation or rounding error (33 instead of 34)
e provides the correct supporting work for both parts of the prompt

1 Point
The student
e writes 34 vans are needed and shows work

OR
e writes 6 students in the last van and shows work
OR
writes 34 vans are needed
writes 6 students in the last van
OR

writes 26 vans and shows work (237/9 =26 R 3)
writes 3 as 1 student, 1 teacher and 1 driver and shows work
OR
e response shows limited understanding of the problem’s mathematical concepts

0 Points
The response shows insufficient understanding of the problem’s mathematical concepts. The
response is incomplete or inaccurate and contains major errors, or no response is given.
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary Schoo! has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and a teacher. All
vans, except the last van, will have every seat filled.

\. How many vans does the school need for the field trip? Show
your wark or explain your answer.

e How many sfudents are in the last van? Show your work or
explain your answer.

Work area for question
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes the correct answer of 34 vans and shows work. The student
writes the correct answer of 6 students are in the last van and provides an explanation.
(The remainder in the problem 237 students + 7 students in each van means that 6 students

are left, but all the students need to go!)
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NJ ASK RELEASED SAMPLE « GRADE 4

Juckson Elementary School has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and o teacher. All
vans, except the last van, will have every seat filled.

* How many vans does the school need for the ﬁéld trip? Show
your wark or explain your answer. =, \}

s How many students are in the last van? Show your work or

explain your answer. ¢ b se_ that s
the  ceamandec,

Work area for question

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student writes the correct answer of 34 vans and shows work. The student
writes the correct answer of 6 students are in the last van and provides an explanation
(6 because that is the remainder).
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary School has 237 students who are riding in vans
for « field trip. Each van holds 7 students, a driver, and o teacher. All
vans, except the last van, will have every seat filled.

* How many vans does the school need for the field trip? Show
your work or explain your answer.

* How marny students are in the last van? Show your wark or
expldain your answer.

Work area for question
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical concepts.
The student writes the correct answer of 34 vans and provides an explanation (237 divide by 7
equals 33 remainder 6 and I van takes 6). The student writes the correct answer of 6 students are
in the last van and provides an explanation (because 237 divide by 7 equals 33 remainder 6).
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary Scheol has 237 students who are riding in vans
for a field trip, Each van holds 7 students, a driver, and a teacher. All
vans, except the last van, will have every seat filled.

* How many vans does the school need for the field trip? Show
your work or explain your answer.

» How many students are in the last van? Show your work or
explain your answer.

Work area for question

a3
2k |
qﬁ'? Theve are 2T voms.
|

“1
P
el = The. -}ag‘t voan hes
fhere ave; 67 1 swdont. becadde the
q - seet ﬁ}}—- rust be o Eeooher and

a dricey,

Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student writes an incorrect answer of 27 vans and shows supporting work
(237/9 = 26 R 3). The student misread the prompt and added 1 driver and 1 teacher in each
van. Based on the error, the student writes the correct answer of 1 student is in the last van
and provides an explanation (because there must be a teacher and a driver).
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary Schoal has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and & feacher. Al
vans, except the last van, will have every seat filled.

* How many vans does the schoel need for the field frip? Show
your work or explain your answer, 2 Lons

* How many students are in the last van? Show your work or
explain your answer,
plany : b stodenls

Work area for question

Score Point: 2
The response shows nearly complete understanding of the problem’s essential mathematical

concepts. The student writes an incorrect answer of 33 vans but shows correct work. The
student writes the correct answer of 6 students are in the last van and shows work by circling
the remainder in the solution.
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary School has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and d teacher. All
vans, except the last van, will have every seat filled.

* How many vans does the school need for the field trip? Show
your work aor explain your answer.

* How moany students are in the last van? Show your work or
explain your answer.,

Work area for question

* Jacksan Elementaly Schoo/ ﬂeedS@ vans
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student writes an incorrect answer of 33 vans but shows correct work. The
student writes the correct answer of 6 students will be in the last van and shows work by
circling the remainder in the solution.
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NJ ASK RELEASED SAMPLE « GRADE 4

| Jackson Elementary School has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and a teacher, All
vans, except the last van, will have every seat filled.

* How many vans does the school need for the field trip? Show

“your work or explain your answer. é
3
*» How many students are in the last van? Show your work or )
explain your answer. }\e‘”&( !

Work area for question

Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student writes an incorrect answer of 27 vans and shows work (237/9 = 26 R 3). However,
the student does not follow through and instead writes the correct answer of 6 students are in
the last van and shows work (237/7 = 33 R 6). The student receives credit for writing 6 and
showing work.
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary School has 237 students wha are riding in vans
for a field trip. Each van holds 7 students, a driver, and a teacher. All
vans, except the last van, will have every seat filled.

« How many vans does the school need for the field trip? Show
your work ar explain your answer.

* How many students are in the last van? Show your work or
explain your answen.

Work area for quesh
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NJ ASK RELEASED SAMPLE « GRADE 4

More work area for ques_tion
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Score Point: 1
The response shows limited understanding of the problem’s essential mathematical concepts.
The student does not state how many vans are needed. The student does write that There

will be six people in the last van because you have six left over and shows the supporting
work (237/7 = 33 R 6).
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary Schoof has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and a teacher. All
vans, except the last van, will have every seat filled.

7l How many vans does the school need for the field trip? Show
your work or explain your answer.

. 34Vvons
¢{* How many students are in the last van? Show yaur work ar
explain your answer.

Work area for question

2287 =5 5%

Score Point: 1

The response shows limited understanding of the problem’s essential mathematical concepts.
The student writes the correct answer of 34 vans and shows supporting work (237/7 = 33.8).
The student writes an answer of 9 showing that 7 are students and the 2 represents the driver
and teacher. The 7 students is incorrect.

94



NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary School has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and a teucher. All
vans, except the last van, will have every seat filled.

-« How many vans does the school need for the field trip? Show
your work or expfuin‘ your answer.

* How many students are in the last van? Show your work or
explain your answer.

Work area for question
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Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student does not write an answer to either question, and shows partial and
incorrect work (237/9 = 26).
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary School has 237 students who are riding in vans
for a field trip. Each van holds 7 students, a driver, and «a teacher. All
vans, except the last van, will have every seat filled.

* How many vans does the school need for the field trip? Show
your work or explain your answer.

* How many students are in the last van? Show your work ar
explain your answer. ‘

Work area for question

Score Point: 0

The response shows insufficient understanding of the problem’s essential mathematical
concepts. The student writes an incorrect answer of 25 vans and shows incorrect work
(231/9 = 25). The student writes the correct answer of 6 students are in the last van but
shows incorrect work (237/7 = 0213) with a remainder of 6.
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NJ ASK RELEASED SAMPLE « GRADE 4

Jackson Elementary Schaool has 237 students who are riding in vans
for a field frip. Each van holds 7 students, a driver, and a teacher. All
vans, except the last van, will have every seat filled.

{« How many vans does the school need for the field frip? Show
your work or explain your answer. '

He How many students are in the last van? Show your wark or
explain your answer.

Work area for question
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Score Point: 0
The response shows insufficient understanding of the problem’s essential mathematical

concepts. The student writes an incorrect answer of 26 vans and shows work (239/9 = 26 R 5).
The student writes an incorrect answer of 5 students are in the last van and shows work by
indicating the remainder of the solution.
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NJ ASK RELEASED SAMPLE « GRADE 4

Brianna is making a rectangular garden. The garden is 8 feet long
by 5 feet wide.

e Draw Brianna’s garden on the grid.

= 1 square foot

Brianna has 30 feet of fencing.

* Will she have enough to completely fence her garden? Show
your work or explain your answer.

Brianna also wants to cover her entire garden with plastic to
control weed:s.

e How much plastic does Brianna need to cover her entire
garden? Show your work or explain your answer.
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STANDARD 2 - GEOMETRY AND MEASUREMENT
Brianna is making a rectangular garden. The garden is 8 feet long by 5 feet wide.

e Draw Brianna’s garden on the grid.

= 1 square foot

Brianna has 30 feet of fencing.

e Will she have enough to completely fence her garden? Show your work or explain
your answer.

Brianna also wants to cover her entire garden with plastic to control weeds.

e How much plastic does Brianna need to cover her entire garden? Show your work or
explain your answer.

Sample Solution:
e Draws an 8 by 5 rectangle on the grid
e Yes, 8+8+5+5 =26 which is less than 30

e 40,8x5=40
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Scoring Rubric

3 Points
The student

draws a correct 8 by 5 rectangle on the grid
writes the correct answer that there is enough fencing and shows work (26 or 4 extra)
writes the correct answer of 40 and shows work (8 X 5 = 40 or there are 40 squares)

2 Points
The student

draws a correct 8 by 5 rectangle on the grid
writes the correct answer that there is enough fencing and shows work
writes the correct answer of 40
OR
draws a correct 8 by 5 rectangle on the grid
writes the correct answer that there is enough fencing
writes the correct answer of 40 and shows work
OR
draws an incorrect rectangle on the grid
writes the correct answer that there is enough fencing and shows work
writes the correct answer of 40 and shows work
OR
draws an incorrect rectangle on the grid
provides a perimeter answer based on their error and shows work
provides an area based on their error and shows work

1 Point
The student

draws a correct 8 by 5 rectangle on the grid
writes the correct answer that there is enough fencing and shows work
OR
draws a correct 8 by 5 rectangle on the grid
writes the correct answer of 40 and shows work
OR
draws an incorrect rectangle on the grid
writes the correct answer that there is enough fencing and shows work based on the error
writes the correct answer of 40
OR
draws an incorrect rectangle on the grid
provides a perimeter answer based on their error and shows work
provides an area based on their error
OR
draws an incorrect rectangle on the grid
provides a perimeter answer based on their error
provides an area based on their error and shows work
OR
response shows limited understanding of the problem’s mathematical concepts

0 Points
The response shows insufficient understanding of the problem’s mathematical concepts. The
response is incomplete or inaccurate and contains major errors, or no response is given.
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NJ ASK RELEASED SAMPLE « GRADE 4

Bricmnu is making a rectangular garden. The garden is 8 feet long
by 5 feet wide.

e Draw Brianna’s garden an the grid.

2
B 2
b
= 1 square foot

Brianna has 30 feet of fencing.

* Will she have enough to completely fence her garden? Show
your work or explain your answer.

Brianna also wants to cover her entire garden with plastic to
control weeds. ‘

* How much plastic does Brianna need to cover her enlire
garden? Show your work or explain your answer.
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NJ ASK RELEASED SAMPLE « GRADE 4

Work area for question

‘ }és Bma.ﬂna wi\ hove

o OOV

\Decmez $BYE=AC.
..5(>< 'S -avgiaor Hron Thirty.

e pesds U0 agfel oY Qoste
Q%B:Ove:‘:;;:re&af‘éeﬂ Lzoo-use, ng—UO.

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student draws a correct 8 X 5 rectangle on the grid. The response contains
the correct answer of Yes, Brianna will have enough fence and shows supporting work. The
response contains the correct answer of 40 sq. feet and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 4

Brianna is making a rectangular garden. The garden is 8 feet long
by 5 feet wide.

¢ Draw Brianna’s garden on the grid.

= 1 square foot

Brianna has 30 feet of fe‘hcing.

« Will she have enough fo COmj:Ietely fence her garden? Show
your work or explain your answer.

Briannd alse wanfs to cover her entire garden with plastic fo
control weeds. .

» How much plastic does Brianaa need to cover her entire
garden? Show your work or explain your answer.
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NJ ASK RELEASED SAMPLE « GRADE 4

Work area for question
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Score Point: 3

The response shows complete understanding of the problem’s essential mathematical
concepts. The student draws a correct 8 X 5 rectangle on the grid. The response contains
the correct answer of Yes, she will have enough fencing and shows supporting work. The
response contains the correct answer of 40 square feet and shows supporting work.
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NJ ASK RELEASED SAMPLE « GRADE 4

Brianna is making a rectangular garden, The garden is 8 feet long
by 5 feet wide.

* Draw Brianna‘s garden on the grid,
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Brianna has 30 feet of fencing.

* Will she have énough to completely fence her garden? Show
your work or expldin your answer.

Brianna also wants to cover her entire garden with plastic fo
control weeds,

* How much plastic does Brianna need to cover her enfire
garden? Show your work or explain your answer,
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NJ ASK RELEASED SAMPLE « GRADE 4

Work area for question ‘
1o Yes, be cause L counted

rhe primefer and Saw yoy
on [Ly need Zé feat of

Fenc'r'ny,
5. She will reed 540 (eet o
Pla € Fie

Score Point: 3

The response shows complete understanding of the problem’s essential mathematical concepts. The student draws a
correct 8 X 5 rectangle on the grid. The response contains the correct answer of Yes, because I counted the perimeter and
saw you onley need 26 feet of fencing. Work for the perimeter is shown on the grid by the numbering outside the rectangle.
The response contains the correct answer of 40 feet of plastic and shows supporting work by numbering the boxes inside
the rectangle. Since labels are not required, the incorrect label of “feet” for 40 does not detract from the score.
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NJ ASK RELEASED SAMPLE « GRADE 4

Brianna is making a rectangular garden. The garden is 8 feet long
by 5 feet wide.

= DPraw Briannao’s garden on the grid.

= 1 square foot

Brianna has 30 feet of fencing.

I+« Wil she have enough to completely fence her garden? Show
yaur work or explain your answer,

Brianna also wants fa cover her entire garden with plastic to
control weeds. .

:)- * How much plasﬁc does Briannd need to cover her enfire
garden? Show your work or explain your answer.

108



NJ ASK RELEASED SAMPLE « GRADE 4

Work area for question

,’ * .

3{“[9\hnq hos ‘?’100‘,’311 "(an_,'mc'+
/S

ho O\VTO(”\A' +he Perimeter o1

“h Crdep ~nd l”/?
Of%”er?cl'ﬂ? h(e{\ ,M | e L{’.{ﬁ’@‘f

<

Q'K‘F[L’\nnm Wl‘“ n.e_el 40 N

{'AO\/“.Q\
Teel of flmﬁL'.‘ To (CLo ‘

Ve r
1,1,\2_ area 0T he r gord za,

Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student draws a correct 8 X 5 rectangle on the grid. The response contains the
correct answer that Brianna has enough fencing to go around the perimeter... and provides
support by writing that she will have 4 feet of fencing left. The response contains the correct
answer of 40 square feet; however, no supporting work is shown.
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NJ ASK RELEASED SAMPLE « GRADE 4

Brianna is making a rectangular garden. The garden is 8 Feet long
by 5 feet wide.

s Draw Brianna’s garden on the grid.

L -

= 1 squarve foot

Brianna has 30 feet of fencing.

le Will she have enough to comipletely fence her garden? Show
your work or explain your answer.

Brianna also wants to cover her entire garden with plastic to
control weeds.

7, * How much plastic does Brianna need fo cover her entire
garden? Show your wark or explain your answer.
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Work area for question
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. The student draws a correct 8 X 5 rectangle on the grid. The response contains the
correct answer that Brianna will have enough to completely fence her garden; however the
supporting explanation is incorrect — If you count the outside of her garden, there are 30 squares.
The response states the correct answer of 40 feet of plastic with supporting explanation.
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NJ ASK RELEASED SAMPLE « GRADE 4

Brianna is making a rectangular garden. The garden is 8 feef long
by 5 feefWideo

* Draw Brianna's garden on the grid.

= | square foot

Brianna has 30 feet of fencing.

* Will she have enough to completely fénce her garden? Show
your work or explain your answer.

Brianna also wants ta cover her entfire garden with plastic to
‘contral weeds.

¢ How much plastic does Brianna need ta cover her entire
garden? Show your work or explain your answer.
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Work area for question
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Score Point: 2

The response shows nearly complete understanding of the problem’s essential mathematical
concepts. <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>